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Topic:- General Knowledge

1) Lalji Singh was popularly known as the of India. /

ATersit Rig ® WRA & & U § ST ST AT

1. Father of DNA Fingerprinting / Sieu fhRfifET & fUar

2. Father of Defense Research and Analysis / 1 Geieft 2y 3R fazawor & SHe
3. Brain Behind Mangalyaan / HITCIdT & JAYR

4. Pioneer in Organic Agriculture / CIEIEeY ?ﬁ T 3y -ad

Correct Answer :-

« Father of DNA Fingerprinting / ST TR & U

2) Name the second and latest novel of Arundhati Roy released recently./
71a g 8 fYefie sreereht I & g 3R TdHau SU=ITH $T 1] Jarg |
1. God of Small Things / TS 31 W1 v

2. Two States of My Marriage / gw 3{fes A1S AR

3. The Ministry of Utmost Happiness / & ﬁlﬁ@ 3Tt 3feHRe Ui

4. White Tiger / ®IRC CIgTR

Correct Answer :-

« The Ministry of Utmost Happiness / & &Iﬁ@ 3Tt 3fcHRe guiAY

3) In which of the following cities of Madhya Pradesh is the Captain Roop Singh Stadium located? /
Aoy & fFrafafad el & 3 frad w wu Riz Rfsaw Ra 2

1. Jabalpur / SIe[cTYR

2. Gwalior / TdTfCRR

3. Indore / 33 N
4. Bhopal / uard

Correct Answer :-

« Gwalior / TTferIR

4) In which year did Shivraj Singh Chauhan take over as Chief Minister of Madhya Pradesh for the first time? /

A U &b @A & T4 # ygell IR Riavret Rig e 3 #19  av & ugHR JyTar ur?
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1. 2010
2. 2005
3.2013
4. 2008

Correct Answer :-

« 2005

5) How many seats are there in Sixteenth Lok Sabha of Madhya Pradesh? /
HAUGR & Hidgd AipaHT | fpa-t He 52

1.48

2.38

3.35

4.29

Correct Answer :-

29

6) What is the objective of ‘Swayam’ introduced by Government of India? /

YR TR GRI = P T} TG0 ST IS T2

1. Self-employment for urban youth / e W & fam TRITIR

2. Promoting self-financing colleges / T8 [EEEIEREAREICACHEIRS

3. Promoting administration by Panchayats / U<TId gIRT YR Gall qeldl Goll

4, Massive open online learning courses / a% AR R 3T RI&UT UTaushHI &I JieT

Correct Answer :-

« Massive open online learning courses / &S TH TR 3T fRI&01 UTSghHl &1 WlerT

7) The ‘Mohanpura Irrigation Project’ dedicated by the Prime Minister in June 2018 has come up in which of the
following districts of Madhya Pradesh? /

S 2018 T weTHE gRT At wieayRT R ufaemr v v & Fafifea § 3 $19 3 e o ong 82
1. Narsinghpur / TRRIEYR

2. Rajgarh / ITSMTG

3. Khargone / &A1

4. Sheopur / TICn'ER

Correct Answer :-

« Rajgarh /Sl7q

8) Whom did Shivraj Singh Chauhan replace as Chief Minister of Madhya Pradesh? /
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AU S GErEl & w0 # Rravre Rig e 3 feas e o2
1. Uma Bharti / SHT HRdlt

2. Digvijay Singh / faffaeg g

3. Motilal Vora / FlcielTel dRT

4. Babulal Gaur / STE@TE TR

Correct Answer :-

- Babulal Gaur / ST TR

9) Which film producer founded the ‘Hindustan Film Company’ in 1917? /
1917 ¥ fw firew fatfar A g feew Susit &t wimg=T o1 A2

1. Jayant Desai / SAd a'ﬂ'l—ip

2. Dadasaheb Phalke / GTGT 1§ WHledh

3. Guru Dutt / oG
4. V. Shantaram / 9%, TaRTH

Correct Answer :-

« Dadasaheb Phalke / QI ql%am

10) Ashok Kumar, Anoop Kumar and Kishore Kumar, the popular Hindi film artists, belong from which one of
the following places of Madhya Pradesh? /

s R fhen FaTeR SRNE FHR, U PHR R fFIR FUR, neg uex & fFufafaa # Q fFa e
R § Hefta 82

1. Jabalpur / ST§¢TYR
2. Indore / 3 aR

3. Khandwa / TSdl
4. Ashoknagar / SRNBHTR

Correct Answer :-

« Khandwa / @adl

11) ‘Flag Satyagraha’ was held in the year 1923 in which of the following places of Madhya Pradesh? /
aY 1923 § "9 GG A Yo & Fufifed # @ o4 9 R # smaifora faar mar ure?

1. Jabalpur / STI¢TYR

2. Gwalior / TdTfeRR

3. Indore / 33 N
4. Bhopal / T

Correct Answer :-

« Jabalpur / SIefcTYR
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12) Mumtaz Mahal, the queen of Shahjahan, died in which of the following places of Madhya Pradesh? /
MMESTgt Bt I GHATS Hed Pt Jog U U & FFufafed 4 fra = 3§32

1. Itarsi / SCRE!

2. Mhow / Hg

3. Panna / Udl

4. Burhanpur / gXgTTYR
Correct Answer :-

« Burhanpur / gR&TTYR

13) Centre for Research and Industrial Staff Performance (CRISP) in Bhopal is established with technical co-
operation of which one of the following countries? [

WuTa § e 3R Sienfie wre ueF ¥x FHsmremuat) faff@ad s A te I &
TJH-P! TganT gRT wTfud foear Tar 82

1. Germany / S
2. USA / 3R
3. Switzerland / W@’

4. France / Wi

Correct Answer :-

« Germany / S

14) Gurmeet Singh, a current Indian record holder, is associated with which of the following sports? /
A MR ReTe yRe, TRt Rig Fufafea § @ fra 9a 3 d&dfa e

1. Discuss throw / [&%m¥ oY

2. Boxing / SfaRT

3. Hockey / EV'IEI%

4. Race walk / X9 didh

Correct Answer :-

e Race walk / w aTaﬁ

15) Who has been honoured with ‘Bharat Gaurav’ award by East Bengal Football Club in the year 2017? /
T 2017 ¥ $¥ G Peald a9 F gRT [HH YR TRe’ REPR A G- foan o

1. Baichung Bhutia / a'lgﬂ"'[ 'lﬂ%ﬁﬂ

2. Dhanraj Pillay / RIS et

3. Pargat Singh / UXTTC Rig

4. Sunil Chetri / g-d &A1

Correct Answer :-
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« Dhanraj Pillay / 4=RTSl fUe

16) The oldest Christian church in India was established in which one of the following states? /

YR # a9 YR 39718 99 (Haferfad 3 3 fw wsa § wurfua foar war ar
1. Kerala / 3d

2. Himachal Pradesh / fHTea ore=

3. Goa /Al

4. Mizoram / frGiR®

Correct Answer :-

« Kerala/ ®d

17) Majhgawan mine located in Madhya Pradesh produces ./
" e ¥ fRya wgrTat @eH S P B

1. diamonds / X

2. bauxite / SIS

3. coal / PITAAT

4. gold /AT

Correct Answer :-

e diamonds / Eﬁi’

Topic:- General Hindi

1) e & fore gt Y fawde <t gl
1. 3fST+3{d
2. 3i+3fd
3. 3+3{d
4. 313 +3{d

Correct Answer :-

o S+3fd

2) 7t g TRE g GeTak &1 3 P faswai A s ar g2
1. RUC YATAT

2. TRUC HITAT

3. ST

4. ST

Correct Answer :-
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3) ariiRr & fog |8t |@fY fawde = g
1.a@+€m

2. [P+

3.EIFT+'§‘I[

4. WJF@[

Correct Answer :-

- TG

4) B PIYS U A AA P ATE?
1. 8Clg

2. BT

3. B¢s

4. 918

Correct Answer :-

. Bag

5) ‘U7 THMD YeTar o1 3 A fawenl A A H arg?
1. e SHT|

2. A H 9B

3. 09 = ST

4. IS ST

Correct Answer :-

o S STHAE

6) &l & forg Ut vafgarh aral <rea) @Y ufet &t g
1. fagw, fagmm, @1

2. [agTT, SigTH, &

3. fagmT, fage, @

4. fagm, fagma, @

Correct Answer :-

7) R R AR S TR g3 | - ¥ g A | $9 971 e R 82
1. ST 3ABR
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2. TT5(od 3fdidR
3. faQmifad SrdeR
4. IPIGd APR

Correct Answer :-

. faRsfag sdeR

8) URR & forg T yafuard ara wres) Ft ufd &t gl
1. TR, T, 30

2. TR, ATHT0T, I d

3. TR, OTHTOT, 39

4, Uk, UTHTUT, 3UdT

Correct Answer :-

9) o FW Ferur 7 3w F o v U P A A BT ATR?
1. 3STE}

2. 3R

3. 3FR

4. SR

Correct Answer :-

10) I FT 47 T A B a1 9 faeiv 2reg 82
AGE
2. T
3. UM

4. Ulcd

Correct Answer :-

11) g ST AT v Fu A A B AT
1. IRy
2. Ao
3. faQy
4. e

Correct Answer :-
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12) <FH ST A I Teg FA A A pATR?
1. FETS

2. qmfa

3. 9

4. THISIS

Correct Answer :-

13) W PO AAAA G & o U W P A A B A1 B2
1. 3T
2. 3
3. TR
4. 3T

Correct Answer :-

14) IPY &1 9 A q B 91 I} faa 2res 32
1. fAffa

2. fAfdy

3. fAfdw

+. FipE

Correct Answer :-

15) CANCELLED

Hases AR d AT T ITUE 2
1. SHYRY A

2. AGTY I

3. fgr oo

4. Sgsiite AN

Correct Answer :-

16) IR PR sy R g R fden
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3R WY Wrfed wg, PR yw w11 - 6 A 3 & @19 91 SR 82
1. TUSD AADR

2. TSI DR

3. TPIfHRT SADR

4. SUHT 3[ABR

Correct Answer :-

. TP AADR

17) Yf¥ W 3ifa I T ot 5+ AR gz Aidt |

Qo @rd fib¥ T W IS g R werd | - A fm A I s AT g
1. BTG XY

2. YOS X

3. AT I

4. QA

Correct Answer :-

CI RS2 RS |

Topic:- General English

1) Choose the most suitable prefix for the given sentence:

Planktons are tiny ____ scopic plants that float near the top of oceans.
1. macro-

2. myo-

3. tele-

4. micro-

Correct Answer :-
* micro-
2) Choose the most suitable determiner for the given sentence:
of the two brothers managed to score well in the IAS examination even though they had studied very hard.
1. Any
2. Neither
3. Every

4. Some

Correct Answer :-

e Neither
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3) Choose the correct form of modal auxiliary verb for the given sentence:

Why did you stay in a hotel when you visited Bristol? You __ have stayed with us.
1. could

2. shall

3. would

4. can

Correct Answer :-

« could

4) Choose appropriate articles for the given sentence:
breakfast served in college canteen today was not tasty.

1. A, the
2. A, an
3. The, the

4. The, a

Correct Answer :-

5) Choose the option with the appropriate punctuation inserted in the given sentence.
We saw cows buffaloes donkeys and hens in the village

1. we saw cows buffaloes donkeys and hens in the village!

2. We saw; cows, buffaloes; donkeys and hens in the village.

3. We saw cows, buffaloes, donkeys, and hens in the village.

4. We saw cows buffaloes donkeys and: hens in the village.

Correct Answer :-

¢ We saw cows, buffaloes, donkeys, and hens in the village.

6) Select the suitable conjunction to complete the sentence:
Hari tries hard, he cannot succeed.

1. Asif

2. If

3. Unless

4. When

Correct Answer :-

e Unless

GET IT ON

Google Play
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Spot the error in the given sentence:

I could not understand why my father was angry upon me.
1. I could not

2. Understand

3. Why my father

4. Was angry upon me

Correct Answer :-

¢ Was angry upon me

8) Choose the option with the appropriate punctuation inserted in the given sentence.
Will you have some tea yes thank you

1. will you have some tea/ yes: thank you!

2. Will you have some tea, yes thank you?

3. Will you have some tea? yes: thank you.

4. Will you have some tea? Yes, thank you.

Correct Answer :-

¢ Will you have some tea? Yes, thank you.

9) Fill in the blank with a suitable collective noun from the given options:
The police arrested the _____ of thieves who were active in our area.

1. gang

2. crowd

3. group

4. mob

Correct Answer :-

10) Fill in the blank with simple present tense of the verb from the given options:
Please the truth else you will be punished.

1. spoke

2. speaking

3. speak

4. is speaking
Correct Answer :-

« speak

11) Choose the appropriate preposition for the given sentence.
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The terrorists were killed _____the commandos in a fierce gun battle.
1. at

2. by

3. from

4. on

Correct Answer :-
. by

12) Choose the appropriate preposition for the given sentence.
Don't worry we will be time for the inaugural ceremony.
1. within

2. at

3.in

4. by

Correct Answer :-

13) Choose the appropriate form of the tense for the given sentence.
She____ of going on a long holiday.

1. is thinking

2. were thinking

3. think

4. thinks

Correct Answer :-
« is thinking

14) Choose the appropriate form of the verb to complete the given sentence.
The students were made _____ for three hours in the examination hall.

1. to be sitting

2. to sit

3. sit

4. sat

Correct Answer :-
« tosit

15) Choose the appropriate articles to complete the given sentence.

How blue ____ sky looks! What ____ beautiful day this is!
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1. the, the

2. the, a

3.4a,an

4. an, a

Correct Answer :-
o the, a

16) Choose the option that best transforms the given sentence as directed:

The young magician learnt all sorts of tricks. (Question tag)
1. The young magician learnt all sorts of tricks, did he?

2. The young magician learnt all sorts of tricks, does he?

3. The young magician learnt all sorts of tricks, couldn’t he?
4. The young magician learnt all sorts of tricks, didn’t he?

Correct Answer :-

« The young magician learnt all sorts of tricks, didn’t he?

17) Choose the correct form of verbs that is in agreement with the subject:
These dogs _____ very active within the house and literally ___ burglar alarms.
1.1s, is

2. 1s, has

3. are, is

4, are, are

Correct Answer :-
e are, are

Topic:- General Maths

1) Tarini is practicing for marathon by running around her square building. She completes 10 rounds of her
building. If each side is approximately 50 m, then what is the length of the running track she covers? /

ARt i PR SR & IR 3R GBI AU & AT 3 TH B 6T 81 98 U1 SHRA & 10 TIFH
R Pl 21 afe U YoIr T 50 WY 8, O S0P gRT FaR T T I 3 &Y e el

1. 2000 m / 2000 HI
2. 1500 m / 1500 |
3.1000 m / 1000 Tt
4.2500 m / 2500 |

Correct Answer :-

« 2000 m /2000 H
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2) If mine and my friend’s working rate ratio is 2:3 respectively, then the ratio of the number of hours to finish the
same work assigned to us is: /

Tfe ART 3R W ERA BT HTH HIA BT JUTA HHR: 2:3 B, A g0 WY T UM 1 &) UG B A ) gel
B ABAT BT ST 41 ghm:

1.3:4
2.2:3
3.3:2
4. 1:3

Correct Answer :-

e 3:2

3) The quadratic polynomial whose sum of zeroes and product of zeroes are respectively -10 and -56 is: /
9% feama ague T R &1 9T SR YR BT [UFTE HHST: -10 3R -56 82

1, xI+10x-36

5. x2-10x- 56

3, x7-10x+ 36

4. =2 +10x+36

Correct Answer :-

. x2+10x-56

4) Rohan goes to the ATM but forgets his four-digit password. If his password has 4 at the tens place and the
password is the least four digit number possible, then what is the required password? /

g1 TAITH 14T § U SIUHT IR 3ih BT IS Hd STl 8 | i 3P URIas A 4818 & RIM W 4 8 3R
TRIGS IR 3| B GUIId SIS T DIt WB 8, A IS URIdS 71 82

1. 1040
2. 1043
3. 1041

4, 1042

Correct Answer :-

« 1040

5) Kevin and Kim's roll numbers are the predecessor and successor of Ken’s examination roll number
respectively. If Ken’s roll number is 2440700, then the respective roll numbers of Kevin and Kim are: /

P 3R fpu & N TraR HHRM: B9 F THe Ad TR & Qdadi 3R WRadi 81 afe F9 S0
TR 2440700 B, A HFAT 3R fFH & Aa TR HHI: €

1. 2440702, 2440703
2. 2440699, 2440700

3. 2440699, 2440701
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4. 2440700, 2440702

Correct Answer :-

o 2440699, 2440701

6) Find the average of 45.61, 56.72 and 23.67. /
45.61, 56.72 Td 23.67 BT 3T 1A B |

1. 42

2.38.12

3.36

4.40.4

Correct Answer :-

7) Nikhil has a chart paper rectangular in shape with a breadth equal to 28 cm. He rolls the paper along the
breadth and a cylinder type shape is formed. When he measures the radius of the circle on either side of the
cylinder, he realizes it is 20 cm. What is the volume of air inside the chart paper? /

fAfad & U SMUATeR PR 1 91 TuR § fora®! DisTs 28 A & SRR 81 98 PN $I STP! AisTs A
AedT 8 3R 309 & UPR P ATHR §1 o141 8 | 574 98 30 & fdl 1t e 9u o) s wuar g, @)
I U 3f1aT & fp ag 20 AW 81 91 TR & iR g1 P71 3Ma |1 82

1. 34800 cubic cm / 34800 T TH
2. 35600 cubic cm / 35600 T THT
3. 35200 cubic cm / 35200 9= I

4. 34200 cubic cm / 34200 9= IHI

Correct Answer :-

« 35200 cubic cm / 35200 T IH

8) CANCELLED

Find the solution of f—f+3x =((x—-3)x-3)+ xl—:' .

f—:+3x=((x—3]x—3]+x];jfﬁrﬁ A HL

11

~| o

4, 4

Correct Answer :-
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9 CANCELLED
Which of the following is an improper fraction? /

fFrafafaa & @ #19 ve favw @ sfa) R g

5
5

3
5

w
|t

5
4.

L | w2

Correct Answer :-

10) Which of the following is a perfect square? /
Frafafea & @ o9 w1 guf @i 32

1.2162

2. 9637

3. 8281

4. 6843

Correct Answer :-

« 8281

11) In a farm of cows and chickens, the number of chickens is three times the number of cows. If the total

numbers of legs of all creatures in the farm is 560, then find the respective number of chickens and all creatures. /

Y 3R gifal & ve i 4, gitfal 91 e T ot s @1 & T 71 afs vt F waf urfor & 3 6

P IYB]AT 560 B, Y AT MR 2t wrlorat &Y wivre e 3ra 91
1. 50, 200
2. 132, 280
3. 168, 224
4. 56,224

Correct Answer :-

« 168,224
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12) Gimplify- - 5 .19 )\
Simplify: ((35 = 12) X (20f 120 — 2 of 36 = 4)) 98
T ((35+12)x(1zniﬁr§— 353#% +i—?))—9a
1. 100

2.189

3.99

Correct Answer :-

- 100

4, 7

14) Ifp(y)=v® - 3yv*+ 5y -3 1s divided by a polynomial g(y). the quotient is v-3 and the remainder is
Tv-9, then g(v) is: /

a1 ply) =y* —3y>+ Sy -3 &I U T gy) @RI faanfaAd fhar Sirar &, o smrhe v-3
AR drwwer 7v-9 3maT &, safET g &

1.y-2

4 V2

Correct Answer :-

15) Arrange the following in ascending order:

5 23 9 2 14

i I_I_f 2_ —

4 205 3 6

rrAfaTad & HRIET &8 7 oIaeyd &
5 23 9 2 14
6

/

r

4’20'5" 73"’


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaiu47 Eooale Play

14 23
132,255
4. 6’20

2 14 2
L0 e e e
16)

. The numberis: [

[ =R

6,
When = is subtracted from a number we get

o4 Uh GEAT A A g ﬂaﬁwsﬁ% gTcd BidT §1 §E4T ¢

25
1. 16

31

9
8
19
4. 14

Correct Answer :-

3x

17) Find the solution ofﬁx-{-g: ?—1-2— i
6x+2= 7+ @ gl d H

1.1

2. 1.5

3.-2

4, -1

Correct Answer :-

Topic:- General Aptitude

1) If POND is coded as RSTL, then how is PEAR written in that code? /

IfE POND @1 RSTL & FU H HISd {541 SITdT 8, df PEAR P 56 BIS H 5y yoR fer@di?
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1. RIGZ
2.JCLZ
3. GHIZ
4. GIJH

Correct Answer :-

« RIGZ

2) If ENGLAND is written as 1234526 and FRANCE is written as 785291, then how is DENAARC coded? /

IfE ENGLAND Y 1234526 & U A for@T ST @ 3k FRANCE Y 785291 & +=U ¥ forar Srar g, o
DENAARC & f5d YR Sifsd far smem?

1. 6125589
2. 834555
3. 835122
4. 381171

Correct Answer :-

» 6125589

3) In arow of girls, Geetanjali is 20t from the right end and Sapna is 10™ from the left end. When they

interchange their positions Geetanjali becomes 25 from the right end. What is the total number of girls in the
row?/

asfral 3 uw ufea & Maistel ang 3R | 207 RIH W 3R GUA1 1¢ 3R ¥ 107 R W 31 519 at omow A
It FRURY &Y et At & it wHiarisTen), 3¢ & 259 WM W Ugd ot § 1 Ufd & wrsfa) 8 oot G qarse?

1.34
2.24
3. 44

4.35

Correct Answer :-

4) In a simultaneous throw of two dice, what is the probability of getting a nine? /

3 Ui 1 U 1Y ThepA UR, 1 3 B UTieedT om gifi?
4

1. 6

=l =]
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4
4. 6

Correct Answer :-

5) How many liters of pure milk are there in 6 liters of a 40% solution? /
40 wferzra faeaa & 6 e #, Y g fvaq diex ghme

1. 1.6 liters / 1.6 TIe}

2. 1.4 liters / 1.4 e}

3. 2.6 liters / 2.6 T}

4. 2.4 liters / 2.4 TR

Correct Answer :-

o 2.4liters/2.4 dlex

6) What is the length of the bridge when a boy riding at 21 km/hr can cross in 5 minutes? /

I U F aars 71 8RR U de T 21 fraitiiez s @) ard A 35S FRd gUs e A urR s Aar @2
1. 1750 meters / 1750 HIeR

2. 1550 meters / 1550 HIeR

3. 1850 meters / 1850 HIeX

4. 1650 meters / 1650 Hiex

Correct Answer :-

« 1750 meters / 1750 HIcR

7) The C.P of an article is 60% of the S.P. The percent that the S.P is of C.P is: /

T g $1 69 T, faspa gea 37 60 wlawra 81 98 ufasa <) g e &0 5 g 31 8
1. 155.66%

2.160.66%

3.170.66%

4. 166.66%

Correct Answer :-

* 166.66%

8) A man has 60 kg of tea, a part of which he sells at 5% loss and the rest at the cost price. In this business he gets
a loss of 3%. Find the quantity which he sells at the cost price. /

TS 3T & U $d 60 fFarumy 9 8, et ue w1 a8 5% & Joa WR 3R A9 R and qe ®
ITAT 81 39 ATI T I 3% B g1 Y St 31 98 9T Fa13¢ o 98 anTd god UR A9ar g
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1. 26 kg / 26 foreiury
2.20 kg / 20 fparmd
3.22 kg /22 fparm
4.24 kg / 24 Tammd

Correct Answer :-

. 24 kg /24 framH

9) Tickets numbered 1 to 15 are mixed up and then a ticket is drawn at random. What is the probability that the
ticket drawn bears a number which is a multiple of 3? /

1 ¥ 15 9P & TWR) arelt fewel Y 3y # fire fear sirar 8 3R fbr ver fRdve &) arefds wu d Ao
forar wiran 8 | 7 wikean @ 6 et 18 e 9t Iem 3 & ua | gt

1. 10

4. 10

Correct Answer :-

10) By selling a bicycle for Rs. 3000, a shopkeeper gains 15%. If the profit is reduced to 8%, then the selling price
will be .

3000 FUY P TP AIZFHA Bt IADR, GHGR B Fd 15 YIA=Td BT A1H U gha 8 | IfS ATY B geTahe 8
TR e e oo @ fassage  ghm

1.Rs. 2817.39/2817.39 34U
2. Rs. 2818.39/2818.39 34U
3. Rs. 2820.39/2820.39 ¥UU
4. Rs. 2819.39/2819.39 ®UU

Correct Answer :-

« Rs.2817.39/2817.39 34U

11) In how many ways can a committee of 4 people be chosen out of 8 people? /
4 A Y U AT Y 8 A A | gD foraq adte) | s o gehar 82
1. 140

2. 110
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3.45
4.70

Correct Answer :-

« 70

12) The present ages of three persons Raghav, Amit and Suresh are in proportions 7:4:9 respectively. Eight years ago,
the sum of their ages was 56. Find their respective present ages? /

T cafeaal wraa, ifia SR GI=T &1 IFHT= Mg HHT: 7:4:9 F FJUTd & § | 3ATS TTA YA, SBT3 BT
TR 56 YTI IAD HHT: TAUT AT [T B2

1. 8 years, 20 years, 28 years / 8 EI'Gf, 20 a’ﬁf, 28 a’ﬁf

2. 20 years, 35 years, 45 years / 20 aﬁ, 35 a'ﬁf, 4599
3. 28 years, 16 years, 36 years / 28 a'Ef, 16 a'ﬁf, 36 9%
4. 13 years, 16 years, 25 years / 13 a’ﬁf, 16 a’ﬁf, 25y

Correct Answer :-

» 28 vyears, 16 years, 36 years / 28 a'ﬁf, 16 EI'Gf, 36 9%

13) Lalita is 40 years old and Shamina is 60 years old. How many years ago was the ratio of their ages 3:5
respectively? /

aferar a0 a9 1 8 MR IMRAT 60 9 Y B 1 foam avf ugd, IAD! AT BT SFUTA HH: 3:5 IGT T2
1. 37 years/37a'5f

2. 20 years / 20 T

3. 5years/53'5f

4. 10 years/ 10 IS

Correct Answer :-

e 10years/ 10 a9

14) After two successive decreases of 20%, the price of computer is Rs. 20800. What is the original price? /
20 TfARTd B G IR TIAR FH & 916, FIHER BT I 20,800 FUT § | TRATID B 10 T 82

1. Rs. 31500/ 31500 ®UQ

2. Rs. 33500 / 33500 »UUY

3. Rs. 30500 / 30500 »UUY

4. Rs. 32500 /32500 24U

Correct Answer :-

« Rs. 32500/ 32500 ®UU
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To answer this question, study the following arrangement:
TY2=5£8EGM*TSHPOKL pi@WQ13zCD&

How manw such letters are there each of which is either immediately followed by a number or
immediately preceded by a symbol, but not beth? /

5 U &I 3ol ¢ & folv, afof@a cgaer &8 o a7 & &&:

JY2 = S£3EGM*7SHPIKLB@WQ132#CD©

Sofdt & hdel 3BT 0 § Neld & s &L AT af gid alg U §%dT I gid g6
TS Udle & Bl 3T ST &, oifehel &t & 817

1.5
2.8
3.6

4.4

Correct Answer :-

Topic:- General Computer

1) Very small portable computers that fit in our hands are called J

9gd BI¢ UIdad e wife gHN g1l # fibe 8id &, 3= HETAT R
1. Palmtops / GiHCIq

2. Desktops / S¥HCIT

3. Laptops / AT

4. Micro computers / HTSsh| HHEI

Correct Answer :-

« Palmtops / qigerg

2) In MS Excel 2010, cell style option will be foundin______ ./
THUI U@ 2010 H, AT WA MMRE T F1ape fenm|
1. Insert tab /37\‘4_(.; |

2. Home tab /@q%a

3. Page layout tab / O A3AT3< oF

4. View tab / & ¢§

Correct Answer :-

« Home tab /E?nﬁa

3) In MS Excel 2007, the outlined cell (the one with the dark borders) within the worksheet is referred to as
the /

THTY TR 2007 H, adhfic # nscag-s Ad (STH disd ardl Th) &) & U H JHET AT
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1. Active cell / Ufded 9
2. System cell | R 9

3. Inactive cell / 3'_{@3 Td
4. Present cell / Uoie Id

Correct Answer :-

« Active cell / Ufdea T

4) In MS Excel 2007, a single spreadsheet can contain .
THTH THd 2007 H, T RiTa Sistfie d g a@wd g1
1. Only 16000 rows and 1000000 columns / Rt 16000 I 3R 1000000 HIAH

2. Only 1000000 rows and 16000 columns / R 1000000 I 3R 16000 HcTH

3. More than 1000000 rows and 16000 columns / 1000000 J 318 It 3R 16000 F 31fer HiaH
4. Less than 1000000 rows and 16000 columns / 1000000 ¥ &H I 3R 16000 T HH HIaH

Correct Answer :-

« More than 1000000 rows and 16000 columns / 1000000 ¥ 3ff¥e IV 3R 16000 F 3B BT

5) In MS Excel 2007, what is the main purpose of a template? /

THTY TR 2007 H, Th JWAE BT GBI 3¢9 T 81T 82

1. It is for repeated use of a workbook layout/ dg T W TANIT &F TR-TR ITINT &5 ﬁ‘l'Q % |

2. It is mandatory to use template in excel / g Sifart % f& Q?R‘-TQT T 2Hcie 1 3UANT fHar S|

3. Arithmetic operations can be calculated easily / SHIONITT URATE] Bl ST & T DY ST Fbelt %I
4. None of the above / B'Clﬁa?‘f e aﬁ‘s‘ qé)f

Correct Answer :-

« It is for repeated use of a workbook layout / g U W A3 b TR-IR YA &b 1%111 % |

6) In MS Excel 2010, the shortcut key used to hide the selected columnis____ ./

THTH TaAd 2010 H, A0S BIAH B §I5S B4 & U STWT S A arell Aidhe &1 81
1. Ctrl+9

2. Ctrl+0

3. Ctrl+8

4. Ctrl+7

Correct Answer :-

o Ctrl+0

7) In MS Excel 2010, themes options can found in .

THUY TRE 2010 §, i 3= AU S 2|
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1. Insert tab /37\‘4_(.f Cl

2. Home tab /E?nﬁa

3. Page Layout tab / U 3f3e ed
4. View tab / aﬁ‘q’

Correct Answer :-

» Page Layout tab / U A313e e

8) In MS Excel 2010, Ribbon is a collectionof ./
THEE TR 2010 F, Red STup dug R

1. Spreadsheets / @_S'Qﬂaﬂ

2. Documents / ﬁw

3. Tabs / &9

4. Files / I

Correct Answer :-

. Tabs/%&q

9) In MS Word 2007, what is the maximum font size that can be set up by typing manually for the font? /

%wwaézomﬁ,e@mwﬁmw%ﬁﬁﬁe%ﬁmﬁq&awﬁmaﬂ%ﬁammm

1. 2000
2.72
3. 1638

4. 500

Correct Answer :-

« 1638

10) In MS Word 2007, where can you find the bullets and numbering icons? /

THTH T 2007 §, 39 gaie AR FaAT ISP H§i ge 9Pd 82
1. Insert tab / §IC <&

2. Home tab / B &

3. Design tab / fSTg 9

4. View tab / & C§

Correct Answer :-

« Home tab /Eﬁ%a
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THTH 98 2007 |, Gide I FeI I
1. Margin aligns / ol sramga

2. Page orientation / U 3fikueeH

3. Columns aligns / CAE I NIES]

4. Print preview / fiic ﬁ?l

Correct Answer :-

 Page orientation / Ul 3 IQQ GRIE

12) In MS word 2010, the shortcut key used to change the characters into italics is i
TATH TS 2010 H, PR DI gefAP A TG AT DicPHe $I $T SHAATS (991 11 3|
1. Alt+1

2. Crl+1

3. Ctrl+B

4, Ctrl+D

Correct Answer :-

o Ctrl+l

13) Choose the INCORRECT option that is not available in the MS-Word 2007 Table Tools Design Ribbon. /
I TTAd fawe 3 g ol THTH-aS 2007 & 9 god fewmeH Raw o Suasy T 81

1. Text Direction / TR STIRGRIA

2. Table Styles / T I3

3. Table Style Options / L[] gd =

4. Draw Borders / QI Ired

Correct Answer :-

« Text Direction / ¢ STIRGR

14) We use to separate from one word to another in MS Word 2007. /

THTH TS 2007 H, T Xeg DI gu¥ g A e 4 & fow g0 BT SEATA Hd 3|
1. Toolbar / TAR

2. Spacebar / IR

3. Navigation bar / AfGTIRM SR

4. Window bar / f[dSI IR

Correct Answer :-

» Spacebar / TR

15) Which of the followmg is an output device? /
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Frafafaa 4 9 o9 @ te enseye fSaga 32
1. Keyboard / Prars

2. Mouse / HISY

3. Joy Stick / 319 fe®

4. Monitor / HHIeX

Correct Answer :-

« Monitor / AR

16) Which one of the following is an operating system? /
FrafafEd # & o9 91 0@ o Rea 82

1. Winrar / fARR

2. MS-PowerPoint / W-m

3. Linux / e

4, MS-Access / w-w

Correct Answer :-

« Linux / foreg

17) CANCELLED

In MS Excel 2007, which of the following ribbons is used to change the themes, colours, fonts and other visual
effects in a file? /

THTY TR 2007 ®, fRaferfad & 9 i e &1 swaura ve wisa o i, 3, wive iR 3 fagasra
THIeH P! gga » R fomar wmar 32

1. Page Layout / U] T3m3e
2. None of the above / STH @Eﬁ_g el
3. Design / EGS’_‘I

4, View / &

Correct Answer :-

 Page Layout / U T33e
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